o o6 AUTOMATION

SCOTNET
SOLUTIONS

SCOTNET SOLUTIONS 1 SINGER ROAD EAST KILBRIDE GLASGOW G75 0XS SCOTLAND
E: INFO@SCOTNETSOLUTIONS.COM W: WWW.SCOTNETSOLUTIONS.COM

Automatic Net Loader
with Auto Stop

Operation Instructions

For Machines with Festo Pneumatics

November 2010



5o e AUTOMATION

SCOTNET
SOLUTIONS jen

SCOTNET SOLUTIONS 1 SINGER ROAD EAST KILBRIDE GLASGOW G75 0XS SCOTLAND
E: INFO@SCOTNETSOLUTIONS.COM W: WWW.SCOTNETSOLUTIONS.COM

Contents

Contents Page 2
Declaration of Conformity Page 3-4
Assembly Instructions Page 5
Assembled Drawing Page 6
Setting Up The Machine Page 7
Loading Net with the Machine Page 8
Maintenance Procedure Page 8
Service Intervals Page 9
Fault Finding Procedures Page 10
Pneumatic Diagram Page 11
Cycle Description Page 12
Parts List Page 13

November 2010 Page 2 of 13



SCOTNET
SOLUTIONS 1

-

SCOTNET SOLUTIONS 1 SINGER ROAD EAST KILBRIDE GLASGOW G75 0XS SCOTLAND
E: INFO@SCOTNETSOLUTIONS.COM W: WWW.SCOTNETSOLUTIONS.COM

EC Declaration of Conformity

In accordance with EN ISO 17050-1:2004

Scobie & Junor (1919) Ltd

5o e AUTOMATION

» .

of 1 Singer Road, Kelvin Industrial Estate, East Kilbride, Glasgow,

G75 0XS

in accordance with the following Directive(s):

2006/42/EC The Machinery Directive

hereby declare that:
Equipment Automatic Net Loader
Model number ANL

Serial Number

is in conformity with the applicable requirements of the following documents

Ref. No. Title

BS EN ISO 12100-1 Safety of machinery. Basic concepts, general principles for design. Basic
terminology, methodology

BS EN ISO 12100-2 Safety of machinery. Basic concepts, general principles for design. Technical
principles and specifications

BS EN ISO 13850 Safety of machinery. Emergency stop. Principles for design
BS EN ISO 13857 Safety of machinery. Safety distances to prevent hazard zones being reached
by upper and lower limbs

REGULATION (EC)  On materials and articles intended to come into contact with food
No 1935/2004

Edition/date
2003+A1:2009

2003+A1:2009

2008
2008

2004

November 2010 Page 3 of 13



o o o AUTOMATION

SCOTNET

SOLUTIONS .6

e hﬁ“‘* .

E: INFO@SCOTNETSOLUTIONS.COM W: WWW.SCOTNETSOLUTIONS.COM

I hereby declare that the equipment named above has been designed to comply with the
relevant sections of the above referenced specifications and is in accordance with the
requirements of the Directive(s)

Signed by:
Name: Gordon Wicklow
Position: Director
Done at: East Kilbride
Document ref. No.
On: 12 September 2010 ANL 2010a

The technical documentation for the machinery is available from the manufacturer at the
above address.

In case of modifications to the Net Loader which has not been approved by
The Scobie & Junor Group This Declaration will be invalid.

November 2010 Page 4 of 13



@S AUTOMATION

SCOTNET

SOLUTIONS e gt SO\

E: INFO@SCOTNETSOLUTIONS.COM W: WWW.SCOTNETSOLUTIONS.COM

Automatic Loader Assembly Instructions

Most machines come fully assembled, however sometimes for shipping reasons, it is necessary to
ship them as a kit. If your machine arrives as a kit, follow the instructions below. If it arrives as a
complete machine, skip onto the

In the kit you should find the following parts:
1. Machine chassis complete

2 4 guide rods

3 4 Head Insert Collets

4. 4 M12 nylock nuts

5. 4 M12 dome nuts

6 1 finger head complete (standard or extended, depending on requirement)
7 4 feet

8 1 moving platform

9. 1 plomper (standard or extended, depending on requirement)

10. A Frame (Bobbin Dispenser)

Assembly Instructions:

1. Screw the four feet on to the base of the machine, and stand upright.

2 Fit the moving platform to the ram. Take care not to damage the threads on the ram
when fitting. Screw the ram fully into the boss on the underside of the moving platform.
The moving platform is easily identified as it has 4 bushes fitted.

3. Carefully insert the four guide rods, and bolt from underneath with the 4 M12 nylock
nuts. Slide the finger head on from the top fully down on to the locating collets.

4. Slide the four securing sleeves on to the rods.

5. Sit head on top of four guide rods ensuring head insert collets are on the ends of the
rods to slot into head.

6. Place head in position and tighten with 4 M12 dome nuts.

7. Finally, sit bobbin dispenser next to machine, and machine is now ready to run.

Note: Itis extremely important that the finger head is level on the machine. Take care not
to force it into position.

The machine is now ready for use. See the ‘setting up’ instructions before switching on the
machine.

Moving The Machine

To move the Scotnet Automatic Loader once assembled, either use a forklift truck, or a hand
pallet truck. Lift the machines from below the chassis. Take care not to damage the ram
which protrudes below the base of the machine. It the pallet truck is too wide, the machine
can be placed diagonally.

Never move the machine by the upright poles. These will bend, leaving the
machine inoperable.

November 2010 Page 5 of 13



oo e AUTOMATION

SCOTNET
SOLUTIONS e

SCOTNET SOLUTIONS 1 SINGER ROAD EAST KILBRIDE GLASGOW G75 0XS SCOTLAND
E: INFO@SCOTNETSOLUTIONS.COM W: WWW.SCOTNETSOLUTIONS.COM

Assembled Drawing

Once assembled the machine should look like this. If the machine is to be used with a Super
Bobbin, the Dispenser should be placed along side the machine as shown.

November 2010 Page 6 of 13



o o o AUTOMATION

SCOTNET

SOLUTIONS .6

el ¥ hh""* L N

E: INFO@SCOTNETSOLUTIONS.COM W: WWW.SCOTNETSOLUTIONS.COM

Setting Up The Machine

General Settings

The machine should have the air pressure set at the regulator to minimum 6 Bar and 8 Bar
maximum. The machine requires approximately 46 ft> or 1320 litres of compressed air per
minute. The size of the compressed air fitting required is ¥4 BSP. Once connected, the
machine is set up. No further adjustments are required.

Adjusting the Stroke Speed

Most nets will load with the machine set at 80PSI. However in some applications it is necessary to
adjust the stroke speed of the machine. To slow the stroke down, reduce the air pressure at the
regulator. The maximum pressure it is safe to operate the machine is 100 PSI.

Air Supply Failure

The machine is fitted with a safety device that prevents it from restarting if the air supply is
interrupted.

If the supply is interrupted, the machine will stop during its cycle. When the supply is
reconnected, the machine will remain where it stopped. To reset it, turn the On / Off Switch
to the reset position. The machine will return to the start position, with the moving platform at
the bottom of its stroke. To restart the machine, simply turn the switch back to the On
Position.

November 2010 Page 7 of 13



oo e AUTOMATION

SCOTNET
SOLUTIONS w i3

"’. oy

SCOTNET SOLUTIONS 1 SINGER ROAD EAST KILBRIDE GLASGOW G75 0XS SCOTLAND
E: INFO@SCOTNETSOLUTIONS.COM W: WWW.SCOTNETSOLUTIONS.COM

Loading Net onto the Machine

1. Insert the ‘Plomper’ (finger opening device) into the finger head.

2. Feed the net from the roll or bobbin underneath the moving platform, and up through the
hole. Pull about one meter of net through.

3. Take a tube, and turn it upside down, so the mounting plate is at the top. Drop the net
through the tube.

4, Turn the tube back upright again, and insert into the machine, from the side. Make
sure the net is not trapped, or caught round any of the upright guide bars.

5. Secure the tube to the moving platform with the cam locks.
6. Remove the ‘plomper’ and start the machine.

When the tube is about % full, switch the machine off, cut the netting near the moving platform, and switch
the machine back on for a few seconds, until the cut end appears through the top of the tube. Reinsert the
plumper, loosen the cam locks, and remove the tube. You can now return to step 2, and load another
tube.

From A Roll From A Super Bobbin

November 2010 Page 8 of 13



o o o AUTOMATION

SCOTNET

SOLUTIONS .6

e hh""* .

E: INFO@SCOTNETSOLUTIONS.COM W: WWW.SCOTNETSOLUTIONS.COM

Maintenance Procedures

Daily Checks:

Lubricate guide rods, and bushes with food safe lubricant.

Check auto drain regulator for water collection. Manually drain if required.

Check finger spring. Replace if stretched.

Check finger action for free movement. Replace if required.

Clean machine with an anti-bacterial solution, and rinse with clean water. Do not spray
pressure hoses directly onto the machine.

b=

Weekly Checks:
1. Check air pressure setting is at minimum 6 Bar and 8 Bar maximum, or at other setting if
stroke speed has been adjusted.

2. Check fingers for wear.
3. Check all nuts and bolts for security, tighten if required.

Service Intervals

After installing the machine, we recommend that it is inspected by the installation engineer

after:

. One Week

. One Month

. As required after this. We do not recommend leaving any machine for more than 6

months between services. The daily and weekly checks above must be carried out
between services.

November 2010 Page 9 of 13



o o o AUTOMATION

SCOTNET

SOLUTIONS —— J:_?:' N S S

E: INFO@SCOTNETSOLUTIONS.COM W: WWW.SCOTNETSOLUTIONS.COM

Fault Finding Procedures

Machine Fails To Operate

Check the air pressure at the regulator. It should be set around 80 PSI (See Setting Up the
Machine Section)

Check the On / Off Switch is operating correctly.

Check that the filter regulator is free from water.

Machine Cycles Irregularly

Check that the silencers, fitted to the pressure sensors on the top of the pneumatic board
(coming out from the top of main valve), are correctly fitted.

Machine Tears Net

Check the finger spring for wear. There should be no over stretched sections.

If the spring is in good condition, check the finger ends for wear.

Check the tightness of the net on the tube. The net should fit the tube comfortably, but

should not be excessively tight.

If there are any problems, please contact the Net Loader Service Desk on:
+44 (0) 1355 237041 for assistance.

November 2010 Page 10 of 13



5o e AUTOMATION
"\_b 2

Q SCOTNET
SOLUTIONS

SCOTNET SOLUTIONS 1 SINGER ROAD EAST KILBRIDE GLASGOW G75 0XS SCOTLAND

E: INFO@SCOTNETSOLUTIONS.COM W: WWW.SCOTNETSOLUTIONS.COM

XVIN ¥ve 8

¥3dvo1dolsolny

71L0Z/20/0¢ | A¥Y3d @ A9 NMVYQ

€-0/1NA
(se)t

T

©

€V 3718

01534

Z-SV-AY3-90-¢/L-d47-9S\

I o

an-g19-370N-HE-"IHA NJH .ﬁ
vl
(4 14
.

(e

I

P/L-€-0/1A

a-8/1-soO

€ L
. [
€ S
vLi <

a-v/1-3s

€
L/
z

v/L-1dd
g€ (1

a-v/L-38

P/1-1dd
L

V-Add-091-€9-ONA

Page 11 of 13

November 2010



5o e AUTOMATION

SCOTNET
SOLUTIONS ;e

‘\*

SCOTNET SOLUTIONS 1 SINGER ROAD EAST KILBRIDE GLASGOW G75 0XS SCOTLAND
E: INFO@SCOTNETSOLUTIONS.COM W: WWW.SCOTNETSOLUTIONS.COM

CYCLE DESCRIPTION

SUPPLY "ON*
SELECT "RESET"
AIR ON CYLINDER

SELECT "RUN"

S
|

al

e

a0

<

STOP WITH AIR
ON CYLINDER.

November 2010 Page 12 of 13



5o e AUTOMATION

SCOTNET
SOLUTIONS 1

-

» .

SCOTNET SOLUTIONS 1 SINGER ROAD EAST KILBRIDE GLASGOW G75 0XS SCOTLAND
E: INFO@SCOTNETSOLUTIONS.COM W: WWW.SCOTNETSOLUTIONS.COM

Parts List

Part Code Description Description 2 Unit
= = ) =

SA151843 Reset Off On Switch HS0-4/3-1/8-B PCS
SA153001 Threaded/Push-in fitting QS5-1/8-4 PCS
SA13363 Cylinder Signal Generator PPL-1/4 PCS
SASBEE Quick Exhaust Valve SE-1/4-B PCS
SA1B5004 Silencer UC-1/4 PCS
SA3STT Reducing Nipple D-1/8 I-1/4-A PCS
SA153005 Threaded/Push-in fitting Q5-1/4-8 PCS
SA14295 Double Pilot Valve J-5-1/4-B PCS
SABBS1 Logic Element 0S-1/8-B PCS
SA9984 Pneumatic Valve WILD-3-1/4 PCS
SABBE0 Logic Elements ZK-1/8-B PCS
SAS755 Time Delay Valve WZ-3-PK-3 PCS
SA178230 Mounting Kit SMB-8E PCS
SA178563 Proximity Sensor SMPO-BE PCS
SA12255 Threaded nipple fitting CN-M5-PK-3 PCS
SA153128 Push in T Connector QST-4 PCS
SA153135 8-6mm T Piece QST-8-6 PCS
SA153041 B-4mm Stright Reducer QS-6H-4 PCS
SA153045 Push in Elbow 4mm Fitting QSL-1/8-4 PCS
SA153026 Push In Connector QSF-1/4-8-B PCS
SA153049 Push in Elbow 8mm Fitting QSL-1/4-8 PCS
SA10772 Pneumatic Valve J-3-PK-3 PCS
SA4233 Pneumatic Valve WLOWD-3-PK-3 PCS
SA163400430 430mm B3 Cylinder DNC-63-430-PPV-A PCS
SA529183 Filter Regulator with Integral Guage MSE-LFR-1/2-D6-ERV-AS-Z PCS
SA1526075 Mounting Bracket for MSE Filter Regulator MS6-WR PCS
SA532188 Nut For MSE Filter Regulator MS6-WRS PCS
SA195280 Plastic tubing 4mm PLN-4%0,75-SW M
SA195282 Plastic tubing 8mm PLN-8%1,25-SW M
SASQL Square Loader Kit PCS
SAFEET Loader Feet PCS
NLE1010 Cam Locks PCS
NLE0005 MOVING PLATFORM BUSH 4 REQUIRED PER MACHINE PCS
NLE0004 Finger Spring PCS
NLB0009 32 Finger Net Loading Head PCS

November 2010 Page 13 of 13



